
USER GUIDE / ANLEITUNG

Model Number: #16.1193
Name: GA-EyeGaze-Bracket

Instructions ID: #00.5079_H

Rehadapt Engineering GmbH & Co.Kg
Heinrich-Hertz-Straße 104
34123 Kassel, Germany 1Phone:	 +49 561 220 717 0

Fax:	 +49 561 220 717 99
 email: office@rehadapt.com

web: www.Rehadapt.com




1x

not included

1x

2x

2x

6x

2x

i Fixation set / Schraubensatz
A

B

C

D

E

F

G

A B

C

D E F HG

I
J K

L M

M3x6 Schraube
M3x6 Bolt

M4x10 Schraube
M4x10 Bolt

M4x6 Schraube
M4x6 Bolt

Scheibe
Washer

Innensechskant
Allen wrench

nicht inklusive

EyeGaze Adapter
EyeGaze Adapter 2x

4x

2x

2x

4x

2x

H

I

J

K

M
M2,5x6 Schraube
M2,5x6 Bolt

M4x10 Schraube
M4x10 Bolt

Klebeband
Tape

Magnet
Magnet

Gummifuß
Rubber foot

M3x10 Schraube
M3x10 Bolt

L



USER GUIDE / ANLEITUNG

2 Rehadapt Engineering GmbH & Co.Kg
Heinrich-Hertz-Straße 104
34123 Kassel, Germany

Phone:	 +49 561 220 717 0
Fax:	 +49 561 220 717 99

 email: office@rehadapt.com
web: www.Rehadapt.com





“UDS/UGA”/”Uni-Tablet”
Page/Seite 6

“Notebook”
Page/Seite 7

“SLS”/”Uni-Tablet SLS”
Page/Seite 5

i2 Mount the “EyeGaze-bracket” on your “device adapter”
Montiere den “EyeGaze-Halter” an deinen “Geräte Adapter”

i1 Mount your “eye-tracker” onto the “EyeGaze-bracket”
Montiere deinen “eye-tracker” an den “EyeGaze-Halter”

Device Fixation set / Schraubensatz Position Page/Seite
PCEye Mini J + K Magnetic 3
Eye Tracker 4C J + K Magnetic 3
MyGaze Power J + K Magnetic 3
MyGaze F 4 4
PCEye Explore G 2 4
Alea CAM30NT G 1 4
TM5 Mini G 3 4
PCEye Go H 2 4
EyeV Skyle M 5 4



USER GUIDE / ANLEITUNG

3Rehadapt Engineering GmbH & Co.Kg
Heinrich-Hertz-Straße 104
34123 Kassel, Germany

Phone:	 +49 561 220 717 0
Fax:	 +49 561 220 717 99

 email: office@rehadapt.com
web: www.Rehadapt.com





i Fixation set / Schraubensatz

i Eye-tracker position

Tobii Dynavox EyeTracker 4C

3 4

1 2

Tobii Dynavox 
PCEye Mini MyGaze Power

J

A

J

J K

K
K

Step 1

Step 2

C



USER GUIDE / ANLEITUNG

4 Rehadapt Engineering GmbH & Co.Kg
Heinrich-Hertz-Straße 104
34123 Kassel, Germany

Phone:	 +49 561 220 717 0
Fax:	 +49 561 220 717 99

 email: office@rehadapt.com
web: www.Rehadapt.com





1

2

Eye-tracker position
1

B

F

F

Step 1

Step 2

i Fixation set / Schraubensatz

3 2 2 3 1

C

4 4

5

H

HM

M

G

G

F G H M

11 GAlea CAM30NT 22 GPCEye Explore

33 GTM5 Mini 55 MEyeV Skyle44 FMyGaze

22 HPCEye Go

5



USER GUIDE / ANLEITUNG

5Rehadapt Engineering GmbH & Co.Kg
Heinrich-Hertz-Straße 104
34123 Kassel, Germany

Phone:	 +49 561 220 717 0
Fax:	 +49 561 220 717 99

 email: office@rehadapt.com
web: www.Rehadapt.com





“Spigot Link System (SLS)”

3 4

1 2

A

C

B

F L

F L



USER GUIDE / ANLEITUNG

6 Rehadapt Engineering GmbH & Co.Kg
Heinrich-Hertz-Straße 104
34123 Kassel, Germany

Phone:	 +49 561 220 717 0
Fax:	 +49 561 220 717 99

 email: office@rehadapt.com
web: www.Rehadapt.com





F L

“UDS/UGA System”

3 4

1 2

B

F

A

C

L



USER GUIDE / ANLEITUNG

7Rehadapt Engineering GmbH & Co.Kg
Heinrich-Hertz-Straße 104
34123 Kassel, Germany

Phone:	 +49 561 220 717 0
Fax:	 +49 561 220 717 99

 email: office@rehadapt.com
web: www.Rehadapt.com





“Netbook / Notebook”

3 4

1 2
A

D

E

B

I




